(8%] ST4FEBHEAT REMRPFAERRVESHE-BER (L)

(Bl - it B/m, TEE %)
EEHES FER U E HEERT Raflits | ROl | paE

(=] 1 |RETHER2T H40%F 138,000 138,000 0.0
3] 2 [fEETIBET4 T EHI3F 111,000 111,000 0.0
(=] JEETTHEENTH7SE 124,000 123,000 0.8
(=] 4 |REMILE=ER3THAESL 111,000 110,000 0.9
(=] 5 [fESTRIEFIEI7 TH49%F 1054 83,500 83,700 -0.2
3] 6 | ILKET R RS R28F584} 118,000 119,000 -0.8
(=] 7 |EETESEITE14%6 M¥&E1—8—4) 87,600 87,900 -0.3
(=] 8 et —FET13F 424 MHEs—Fm1—17) 94,000 94,000 0.0
(=] 9 |[EETEHBITHE70E 1M 110,000 110,000 0.0
=] 10 |[EEHIAE2TH487F 14 ltAE2—2—45] 82,000 82,000 0.0
3] 1 [fESTHmER2T 5E48%S3 68,400 68,600 -0.3
(=] 12 [{EE ™ EBIERTR#428% 13 83,100 83,100 0.0
3] 13 |[fEEMRIL3T H83&F [K[53—5—36] 78,200 78,400 -0.3
(=] 14 |[fES™HEHE1TH1018%1 lZMAET1—10—50] 39,500 40,000 -1.3
(=] 15 |[fEETHEIEEI1ITE111%9 [FaEERT1—3—79] 68,200 68,400 —03
(=] 16 |fE ST RERAHT50%39 44,000 44,200 —05
(=] 17 |[fEESHTEEERTH46%E16 50,400 50,600 -0.4
(=] 18 [fEEM/\ AT KiT248%F27 61,400 61,400 0.0
(=] 19 |[fESTRRIIRT3T B 18%&S8 93,500 93,500 0.0
(=] 20 [fEETHItR=HT4TH111%&67 TtR=HT4—9—11—11] 62,100 62,200 -0.2
3] 21 [fEETHREEI3T H563%F45 45,300 46,100 -1.7
(=] 22 |fEETR EHAT3T H39%3 53,000 53,500 -0.9
(=] 23 |fEE™HIINET{E #5067 48 49,900 50,700 -1.6
(=] 24 [fEEHAL M1 T H25%31 60,600 60,800 —03
3] 25 |fEETEEANIIET3T H25%&F 14t 149,000 147,000 1.4
(=] 26 [fEETINERISTHE1317%&17 [ EARI3—3—32] 71,200 71,300 -0.1
(=] 27 [fEETHEAR=M2TH472%4 [FA=H2—6—57] 69,400 69,400 0.0
=] 28 [fEEHiEG/\BEE16D21F7 Mg /\FEET2—3) 89,500 89,500 0.0
=] 29 [fESTHERATMHEFR33%F24} 44,900 45,000 -0.2
=] 30 [fEE™IINETR#A511F&10 48,500 48,900 08
=] 31 [EETHEREAR2TH27%2 111,000 110,000 0.9
=] 32 |[EETHEAE1THE196%13 [FAEE1—4—38) 83,300 83,300 0.0
=] 33 [EETICHEI SR F S K 63%F3N 28,000 28,200 -0.7
=] 34 |[EETEZRBAITH132F1 21,600 21,800 -0.9
=] 35 |[fEEm L /\BET EhF557%18 27,000 27,100 -04
3] 36 [fEES T AHTEARI3E 13,900 14,100 -14
=] 37 [EETERAI ST M/ A149%2 30,200 30,300 -0.3
=] 38 [EESHRARILAI30%FE 117 IERIEET4—6—3] 80,700 81,200 -0.6
=] 39 [fEEBTH KRBT K AR 1E1 31,800 32,200 -1.2
=] 40 [fEEH)IINETEEHH263%4 45,000 45,700 -15
=] 4 |EETHEES1THE78%F10 [ FREE1—6—29] 81,000 FRERHE
=] 3 |EETPE=EBR2TE17%&1 143,000 143,000 0.0
=] 201 |[fEEH/\ BRI 1L282%2 68,000 68,000 0.0
=] 5 1 |[fEEH—HFE3TH24%F 367,000 369,000 -0.5
=] 5 2 |[EETHEARITE17E 183,000 184,000 -0.5
=] 5 3 |[EETHIRFNIET6 T H29% 14+ 105,000 106,000 -0.9
=] 5 4 [EETHTEMIBRT2 T B12% 139,000 140,000 -0.7
=] 5 5 |[fEEHMET1 T HA44%5 208,000 209,000 -0.5
=] 5 6 |[EENERERAIBITE24% 150,000 151,000 -0.7
=] 5 7 |EEhESR —&AT1604%F 1 Mt —&ET16—10] 105,000 105,000 0.0
=] 5 8 |[EETBNMEE3TE 152 152,000 150,000 1.3
e 5 9 |EETEE1THI389%F1 fBE1—7—22) 123,000 BEZ
(=] 5 10 [EETEHEEE607 FS MEH MERG6—18) 112,000 113,000 -0.9
=] 5 11 |BETAREITE19% 111,000 112,000 -0.9
=] 5 12 |[fEES T8 ER 1 TE825%F24} & ER1—1—18] 114,000 116,000 -1.7
=] 5 13 |BEM/\BEE2TH7&24 253,000 254,000 -04
] 5 14 |[fEESTEESTH279%7 M¥&55—8—25] 106,000 107,000 -0.9
3] 5 15 [EEMI M1 TE195%F1 MtidM1—2—30] 96,600 97,500 -0.9
=] 5 16 |EETRAEHE2THE116%1 102,000 103,000 -1.0
=] 5 17 |RETICHETTE S A F-E69F 241 61,000 61,300 -0.5
e 9 1 |[fEEHEREFAT1125%22 MEEEFET3—41] 17,400 16,900 3.0
=] 9 2 |[fEEH)INETINE EEF463F2341 24,400 24,200 038
=] 9 3 |EEhimEETHE66E615 32,300 32,800 -1.5
8 1 (BMHEETEFEDER32%13 34,700 34,800 03
IH%F'E] 2 |H%FE]F|'TII%F'EIWi{&iﬁiﬁ—?%mzsﬁﬁzo 13,900 14,000 -0.7
&g 3 [P RRT AR ERE 1555 40,400 40,600 -05




(8%] ST4FEBHEAT REMRPFAERRVESHE-BER (L)

(BfT : ffitg A/m, TEE %)
BEWES FERUHE ERER Refits | Roflits | HAE
5 -| 4 |EMmEHETRiEFIRMA23%F3 24,100 24,300 08
[rers -| s|eMhERRSsTE318% 18,700 18,800 -0.5
[rers -| 6 [BrMThEmER AT AMKI35% 47,100] 47,300 0.4
[rers -1 7 [eMTh AR ASFILE43E12 21,900 22,100 -0.9
[rers -| 8 [eFThEmERAZTHIAES01ES 31,600 31,700 -0.3
[rers - oleMmEmEREETANIES 38.400] 38500 -0.3
BT -] 10 [T ES AT ME238E 22,800 23,000 -0.9
[rers - 11 [l RRKAh A FREEE6S 16,500 16,600 0.6
[rers - 12 [eMhE R EEThE230%1 16.400] 16,600 -1.2
[rers -| 13 [eMTERE AT HEYX75% 16,700] 16,900 -1.2
[rers -| 14 EMThEENARETh2MH70E7 39.100] 39,300 -0.5
[rers 5-] 1 |[eMmEERIERTEAE226% 58,300 58,900 -1.0
[rers 5 -] 2 [BMmiEERTE BT ERREO7EN 69,400 70,100 -1.0
i 9 |-| 1 |EBMHEEEIEFTRER115F 15 17,400 17,400 0.0
INA S - 1 RETR/MMABEIFILE1445F3 40,300 40,500 -05
INA S - 2 MAETHHEEIFER1F111 36,100 36,300 -0.6
INA S - B |MAETAMEIFE/KR102%E34 35,100 35,200 03
INA S - 4 |MAETBEREEIF)IIH6E 2445 38,200 38,400 -05
INA S -| 5 [IAETH/IMMABEIFRER62%13 38,900 BEZ
INA S -| 6 [/AETHBRBEEIFTI KHh39%E3 [#EBEAI5—49—15] 40,300 40,500 -0.5
INA S - 7 |MAETRIEETFESD)IRE66F45 25,100 25,500 -1.6
INA S -| 8 |IAETIRHFEIFAABRSSESL 15,400 15,600 -1.3
INA S - 9 MAETIEERTFRE26%F91 [H7EBT18—29] 29,500 29,700 -0.7
INRE 5 |- 1 v Ef/MAERTFH R/ O80F 4 53,300 54,100 -1.5
INA S 9 |- 1 |REBH/IMABHEIFHE46FE3S 24,000 24,400 -1.6
19k -| 1 |FETENIEETRIE433%F53 35,500 35,700 -0.6
[ - 2 |mEmERITEA26%19 51,000 51,000 0.0
[ -| 3 |AETRRETHIEY90E 55t 20500/ 29,700 07
[ -| 4 |mETRETAE27E TS 21,900/ 22500 27
[ -| 5 |mwmmRaEHETE%38ES 38,800 38,900 -0.3
[rmm -1 6 |FmmR AR e/ A 20F 225 34,100 33,700 12
[ - 7 |mEmmE e tEAER48E 14 33,200 33,300 -0.3
[rmm -1 s |mmmR AR R/ NAE2 47,400 46,800 13
[ - o mmmEmErsHAL U 2ES 34,100 33,800 09
[ - 1o mEmRRRTEEE44E2 19,700 19,800 -0.5
[ -| 1 [AEhtREsa340%6 32.300] 32400 -03
[ - | 12 [T HEIE35% 1 15300 15,500 -13
[ -| 13 [METHERE)IRThE1380%26 222000 22,300 04
[ 5-] 1 [METmEmEETAR18%2 70,100] 70,700 -038
[ 5|-| 2 |meEh T AHE488%F 1745 61,700 62,200 -0.8
19k 9 -] 1|MEHXBRAT210%53 10,300 10,400 -1.0
Bl - 1 [ EBNTEERTERFINA323%F 184 37,600 37,900 08
Bl - 2 | EHNINEESEREF/NE679%E3 32,700 32,900 -0.6
E£52 - 3 |EHIITEEHELFEEI467F22 34,700 34,900 -0.6
Ed: - 1V EETREAFRRFRSO7ES 22,100 22,400 -1.3
Ed: - 2 |ERETREXFRERFHELEF232%F14 21,000 21,500 -23
Ed: 5 -] 1 |EETHREAFERF/\EHLTE120F 15 53,500 55,000 -2.7
mE =T - 1 |[=FmhERTS Y F1459%7 38,900 39,900 -25
mE =T - 2 | =it BT/~ 2+321898%6 35,100 36,000 -25
EE=F| 5|- 1 | = AB Y54 1795%6 50,500 52,000 -2.9
L=Eid - 1 |REREHTAERFEHEI7E 14 33,100 33,300 -0.6
L=Ei3 - 2 |BEBEHATEHTFR/N161%E6 34,600 34,800 —0.6
L=Ei3 - 3 |ETEMAHAEBIIEFEIFE227F17 33,100 33,300 —0.6
L=Ei3 5| - 1 |BEBEHMEHFHEFHI05F1 61,500 62,400 -1.4
Ed53 - 1 BRI KF LI HEFRIB83E 17,400 18,000 -3.3
Ed53 - 2 | BRBEBGRXFRIEHEFE/ A62F 16,600 17,200 -35
2 I 5|- 1 [(EERERE BT KF A FARF114%E5 32,100 33,500 -4.2
Edid - | 1 [EEEEKETEEH235%2 16,400 17,000 -35
Edid -| 2 |BEARKETEANFF186%F22 23,800 24,600 -33
Edid 5 |- 1 |EMEEKATEAANFFEI161EF55 28,500 29,600 -3.7
FATR - 1 | REBRERILSFXEUIEF12 50,000 50,200 -04
NG - 2 [IREFERLERTEAREF/\ILEHRI0ES 41,500 41,700 -0.5
NG - 3 [WREF AR RET LB F ) M66F5 42,400 42,700 0.7
FATR - 4 |REBRERPERFFEATRENTE 26,800 27,000 -0.7




(8%] ST4FEBHEAT REMRPFAERRVESHE-BER (L)

(Bl - it B/m, TEE %)
EEHES FER U E HEERT Raflits | ROl | paE
FATE 9 - 1 |AREEMERLERE T AERE151E1 20,800 20,800 0.0
B4 - 1 [HREE L BB S B FHRIEQ0E7 45,600 45,800 -04
Bl - 2 |REAILBSELIRFHIM22%F2 62,000 62,100 -0.2
B4 - 3 [HREFERIL BETIL AT F SR R 35% 31 40,000 40,000 0.0
Bl 5|- 1 (R EFERIL EET AT F REEOEIS 71,800 72,000 -0.3
Bl 9 |- 1 |REBILSEILMFIRF2ES 20,100 19,600 2.6
BEE - 1 (R EEREE(F AT B FR83%F 21 49,000 49,000 0.0
BEE - 2 |IREHERE{EETE26%12 47,400 47,400 0.0
BEE 5| - 1 [HREFEREE(ERTfEd F oAt 142F 184} 49,400 49,500 -0.2
BEE 5 -] 2 |REHEEHEGFLNESIFE1SN 96,100 96,200 -0.1
5% - 1 [EEEBOSEHEAFEHE6ES 25,100 25,700 -23
D5F - 2 |EBEBOSETHISAFAHAE435ES5 20,300 20.900 -2.9
KMFEBBFS IWIEVTIEZ ARFIHFERFL ROKSITRRLTNS,
-1, -2, -3, =201 ===+ FEH 5-1, 5-2, 5-3 ==x== [EES:u 9-1,9-2, 9-3 ==+-- T i




